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EXECUTIVE OFFICER, GRADE- IV (GROUP- VIII SERVICES) (TAMIL NADU HINDU 
RELIGIOUS AND CHARITABLE ENDOWMENTS SUBORDINATE SERVICE) 

 
1. Who was the founder of ‘Dravida Mahajana Sabha? 

a. Sir P.T. Thiyagaraya   b. Iyotheedaasar Pandithar   
c. Jyothiba Phule    d. Ayya Vaikundhar 
e. Answer not known 

 jpuhtpl kfh[d rigia epWtpath; ahh;? 
 a. rh; P.T. jpahfuhah;   b. mNahj;jpjhrh; gz;bjh; 
 c. N[hjpgh G+Ny    d. ma;ah itFe;jh; 
 e. tpil njhpatpy;iy 
  

2. Who is popularly known as “Vallalar”? 
a. Rama Krishna    b. Iyothee Thassar   
c. Ramlinga Adigal    d. Ayyan Kali     
e. Answer not knoan 
“ts;syhh;” vdg; gyuhYk; mwpag;gl;lth;? 
a. ,uhk fpU~;zh;   b. mNahj;jpjhrh;  c. ,uhkypq;f mbfs; 
d. ma;ad;fhsp   e. tpil njhpatpy;iy 
 

3. Which of the following pairs is not correct? 
i. Pattinappalai  - Katiyalur Urithiran Kannanar 
ii. Patituppattu  - Speaks of Eight Chera Kings 
iii. Madurai Kanchi  - Refers to Mudukudumi Peruvazhuthi 
iv. Thiruvanchikalam - Refers to Karikala Chola 
a. I and ii   b. ii and iii   c. iii only 
d. iv only   e. Answer not known 
fPo;f;fz;l ,izfspy; vJ jtwhdJ? 
i. gl;bdg;ghiy  - fbaY}h; cUj;jpuq; fz;zdhh; 
ii. gjpw;Wg;gj;J  - vl;L Nru kd;dh;fs; Fwpj;J NgRfpwJ 
iii. kJiuf; fhQ;rp  - KJFLkp ngUtOjp gw;wp Fwpg;gpLfpwJ 
iv. jpUtQ;irf;fsk;  - fhpfhy Nrhoid gw;wp $WfpwJ 
a. i  kw;Wk; ii  b. ii kw;Wk; iii  c. iii kl;Lk; 
d. iv kl;Lk;   e. tpil njhpatpy;iy 
 

4. Match the following: 
A. Biological Diversity Act   1. 1972 
B. National green Tribunals  2. 2010 
C. The Environment Protection Act 3. 2002 
D. Wild life Protection Act   3. 1986 

A B C D 
a.  3 2 4 1 
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b.  2 3 1 4  
c. 3 4 1 2 
d. 4 3 1 2 
e. Answer not known 
fPo;f;fhz;gtw;iwf; rhpahfg; nghUj;Jf: 
A. caphpay; gd;Kfj;jd;ik rl;lk;  1. 1972 
B. Njrpa gRik jPh;g;ghaq;fs;   2. 2010 
C. RWWr;Roy; ghJfhg;Gr; rl;lk;   3. 2002 
D. tdtpyq;F ghJfhg;Gr; rl;lk;   4. 1986 

A B C D 
a.  3 2 4 1 
b.  2 3 1 4  
c. 3 4 1 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

5. An important indicator of nutrition deficiency is  
a. Anaemia   b. Obesity   c. Kidney failure 
d. Night blindness  e. Answer not known 
Cl;lr;rj;J Fiwghl;bd; Kf;fpa mwpFwp 
a. ,uj;jr; Nrhif  b. cly; gUkd;  c. rpWePuf nraypog;G 
d. ,uT FUl;Lj;jd;ik e. tpil njhpatpy;iy 

  
6. “________” Award is conferred to honour librarians for the outstanding performance 

by Tamil Nadu Government. 
a. Dr. S. R. Ranganathan  b. Thiru. Kavimani  c. Kamaraj 
d. Kalaignar    e.  Answer not known 
 jkpo;ehL murhy; rpwg;ghfr; nray;gLk; E}yfh;fis ngUikg;gLj;Jtjw;fhf 
__________ tpUJ toq;fg;gLfpwJ. 
a. lhf;lh;. v];. Mu;. nuq;fehjd;  b. jpU. ftpkzp  c. fhkuh[h;  
d. fiyQh;     e. tpil njhpatpy;iy 
 

7. Mach the Follwing: 
Five Year Plans   Names or Objectives 
A. 2nd Plan    1. Harrod Domar 
B. 1st Plan    2. Mahalanobis 
C. 9th Plan     3. Growth with justice and equity 
D. 3rd Plan    4. Gadgil Yojana 

A B C D 
a. 2 1 3 4 
b. 2 1 4 3 
c. 2 4 3 1 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf: 
Ie;jhz;L jpl;lq;fs;   khjphpfs; my;yJ Nehf;fq;fs; 
A. ,uz;lhtJ jpl;lk;  1. `hNul; lhku; 
B. Kjy; jpl;lk;   2. kfyh NehgpR 

C. xd;gjhtJ jpl;lk;  3. r%f ePjpAld; $ba rkkhd tsh;r;rp 
D. %d;whtJ jpl;lk;  4. fhl;fpy; jpl;lk; 
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A B C D 
a. 2 1 3 4 
b. 2 1 4 3 
c. 2 4 3 1 
d. 2 3 1 4 
e. tpil njhpatpy;iy 
 

8. Who is Known as the father of local government in India? 
a. Lord Dalhousie  b. Lord George Robinson  c. Lord Rippon 
d. Lord Mountbatten e. Answer not known 
cs;shl;rp mikg;Gfspd; je;ij vd miof;fg;gLgth; ahh;? 
a. ly;N`srp gpuG  b. [hh;[; uhgpd;rd; gpuG  c. hpg;gd; gpuG 
d. kTz;l; Ngl;ld; gpuG e. tpil njhpatpy;iy  
 

9. In which year, Inland water ways authority was setup in India? 
a. 1985  b. 1986   c. 1987 
d. 1988  e. Answer not known 
,e;jpahtpy; cs;ehl;L ePh;topg;Nghf;Ftuj;J Mizak; ve;j Mz;L njhlq;fg;gl;lJ? 
a. 1985  b. 1986   c. 1987 
d. 1988  e. tpil njhpatpy;iy 
 

10. In India, large extent of Alpine forests are found in 
a. Deccan Plateau b. Ganges delta  c. Eastern Himalayas 

d. Eastern Ghats d. Answer not known 
,e;jpahtpy; ve;jg; gFjpapy; my;igd; fhLfs; ngUkstpy; ,Uf;fpd;wd? 
a. jf;fhz gPlG+kp   b. fq;if nly;lh  c. fpof;F ,kakiy 
d. fpof;F njhlh;r;rp kiy  e. tpil njhpatpy;iy 
 

11. _______instructed for his mausoleum was that it should incorporate elements from 
different religions including Islam and Hinduism. 
a. Ashoka   b. Akbar   c. Shahjahan 
d. Aurangazeb  c. Answer not known 
,];yhk;> ,e;J rkak; cs;spl;l gy;NtW rkaq;fisr; rhh;e;jf; $Wfs; jd; 
fy;yiwapy; ,lk;ngw Ntz;Lnkd typAWj;jpath; 
a. mNrhfh;   b. mf;gh;   c.  ~h[`hd; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 

 
12. Where is the famous pilgrim spot of Sikhs located in India? 

a. Manali   b. Patna   c. Amritsar 

d. Jalandhor   e. Answer not known 
,e;jpahtpy; mike;Js;s> rPf;fpah;fspd; Gfo;ngw;w ahj;jpiuj; jyk;  
a. kzhyp   b. ghl;dh   c. mkph;jru]; 
d. [ye;jh;   e. tpil njhpatpy;iy 
 

13. The eldest son the Chola king was called to be  
a. Yuvarajan   b. Prince   c. King 
d. Governor   e. Answer not known 
Nrho murpd; %j;j kfd; ___________ vd miof;fg;gl;lhh;. 
a. Atuh[d;   b. ,sturh;   c. murh; 
d. MSeh;   e. tpil njhpatpy;iy 
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14. The last dynasty of Delhi sultanate was 
a. Khalji Dynsty  b. Lodi Dynasty  c. Layyid Dynasty 
d. Tgyhluq Dynasty  e. Answer not known 
nly;yp Ry;jhdpaj;jpd; filrp muR kuG 
a. fpy;[p kuG   b. Nyhb kuG   c. iraJ kuG 
d. Jf;sf; kuG  e. tpil njhpatpy;iy 
 

15. Which article of Indian constitution promotes international peace and secutity? 
a. Article 48   b. Article 49   c. Article 50 
d. Article 51   e. Answer not known 
ve;j murpay; mikg;Gr; rl;lg;gphpT gd;dhl;L mikjp kw;Wk; ghJfhg;ig 
Cf;Ftpf;fpwJ? 
a. murpay; mikg;G rl;lg;ghpT 48  b. murpay; mikg;G rl;lg;gphpT 49 

c. murpay; mikg;G rl;lg;ghpT 50  d. murpay; mikg;G rl;lg;gphpT 51 
e. tpil njhpatpy;iy 
 

16. Which year the union Government constituted a commission under the 
chairmanship of justice R.S. Sarkaria? 
a. 1990  b. 1985    c. 1983 

d. 1981  e. Answer not known 
xd;wpa murhq;fk; ve;j Mz;L ePjpaurh; Mh;.v];. rh;f;fhhpah jiyikapy; Mizak; 
mikj;jJ? 
a. 1990  b. 1985    c. 1983 
d. 1981  e. tpil njhpatpy;iy 
 

17. What is the time limit to get the information from RTI Act 2005? 
a. 15 days   b. 20 days   c. 25 days 
d. 30 days   e. Answer not know 
2005 jfty; mwpAk; chpikr; rl;lg;gb jftiyg; ngWtjw;fhd fhy tuk;G vd;d? 
a. 15 ehl;fs;   b. 20 ehl;fs;   c. 25 ehl;fs; 
d. 30 ehl;fs;   e. tpil njhpatpy;iy 
 

18. Who appoints the Chief Minister of a state? 
a. The governor   b. The Prime Minister  c. The President 
d. The chief Justice   e. Answer not known 
khepyj;jpd; Kjyikr;riu epakdk; nra;th; ahh;? 
a. MSeh;   b. gpujkh;   c. FbauR jiyth; 
d. jiyik ePjpgjp  e. tpil njhpatpy;iy 
 

19. There are 50 students in a class. If 14% are absent on a particular day, find the 
number of students present in the class 
a. 41  b. 42  c. 43  d. 44  e. Answer not known 
xU tFg;gpy; 50 khzth;fs; cs;sdh;. xU Fwpg;gpl;l ehspy; 14% Ngh; tUif 
Ghpatpy;iy vdpy;> tUif Ghpe;J khzth;fspd; vz;zpf;ifiaf; fhz;f. 
a. 41  b. 42  c. 43  d. 44  e. tpil njhpatpy;iy 
 

20. Find the GCD of: (y3 +1) and (y2 – 1) 
a. (y2 +2)   b. (y+1)   c. (y-1) 
d. (y +1)2   e. Answer not known 
(y3 +1)  kw;Wk; (y2 – 1) Mfpatw;wpd; kPg;ngU nghJ tFj;jpiaf; fhz;f. 
a. (y2 +2)   b. (y+1)   c. (y-1) 
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d. (y +1)2   e. tpil njhpatpy;iy 
 

21. Volume of a hollow sphere is 311352

7
cm . If the outer radius is 8 cm, Find the inner 

diameter of the sphere (Take 
22

7
 = ) 

a. 5 cm   b. 10 cm   c. 15 cm 
d. 20 cm   e. Answer not known 

xU cs;sPlw;w Nfhsj;jpd; fd msT 
11352

7
f.nr.kP. kw;Wk; mjd; ntsp Muk; 8 

nr.kP vdpy; mf;Nfhsj;jpd; cs;tpl;lj;jpd; mst fhz;f. (
22

7
 = vd;f). 

a. 5 nr.kP   b. 10 nr.kP   c. 15 nr.kP  

d. 20 nr.kP   e. tpil njhpatpy;iy 

 
22. Mary is three times older than Nandhini. After 10 years, the sum of their ages will be 

80. Find Mary’s present age 
a. 45  b. 35   c. 25  d. 15  e. Answer not known 
Nkhp> ee;jpdpapd; taijg; Nghy; Kk;klq;F %j;jth;. 10 Mz;LfSf;Fg; gpwF> 
mth;fspd; taJfspd; $Ljy; 80 Mf ,Uf;Fk; vdpy;> Nkhpapd; jw;Nghija 
tajpidf; fhz;f. 
a. 45  b. 35   c. 25  d. 15  e. tpil njhpatpy;iy 
 

23. Raju’s father’s age is 5 years more than time Raju’s age. Find Raju’s age if his father is 
44 years old? 
a. 10  b. 11  c. 13  d. 18  e. Answer not known 
,uh[{tpd; je;ij tajhdJ> ,uh[{tpd; taijg; Nghy; 3 klq;if tpl 5 mjpfk;. 
,uh[{tpd; je;ij taJ 44 vdpy;> ,uh[{tpd; taJ vd;d? 
a. 10  b. 11  c. 13  d. 18  e. tpil njhpatpy;iy 
 

24. The smallest 5 digit number which is exactly divisible by 72 and 108 is  
a. 10152  b. 11052   c. 15052 
d. 09936  e. Answer not known 
72 kw;Wk; 108 Mfpa vz;fshy; kpfr;  rhpahf tFglf;$ba> kpfr;rpwpa 5 ,yf;f 
vz; ________ MFk;. 
a. 10152  b. 11052   c. 15052 
d. 09936  e. tpil njhpatpy;iy 
 

25. If 
3 4 7

a b c
= = then 

a b c

c

+ +
is equal to 

a. 7  b. 2  c. 
1

2
  d. 

1

7
  e. Answer not known 

3 4 7

a b c
= = vdpy; 

a b c

c

+ +
 

a. 7  b. 2  c. 
1

2
  d. 

1

7
  e. tpil njhpatpy;iy 
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26. If P denotes ÷, Q denotes x, R denotes +, S denotes -, then the value of 18Q12P4R5S6 
is 
a. 50  b. 53  c. 54  d. 59  e. Answer not known 
P vd;gJ ‘÷’ vd;gijAk;> Q vd;gJ ‘x’ vd;gijAk;> R vd;gJ ‘+’ vd;gijAk;> S 
vd;gJ ‘-’ vd;gijAk; Fwpj;jhy;> 18Q12P4R5S6 vd;gjd; kjpg;G. 
a. 50  b. 53  c. 54  d. 59  e. tpil njhpatpy;iy  
 

27. 4 P + S r q B #A 3? 7 C>Z % 6 d & Q @ 1 
Which element is seventh to the left of sixteenth element from the left in the above 
series? 
a. A  b. C  c. Z  d. S  e. Answer not known 
4 P + S r q B #A 3? 7 C>Z % 6 d & Q @ 1 
njhlhpy; 16-tJ cWg;gpw;F ,lJGwKs;s 7- tJ cWg;G vd;d? 
a. A  b. C  c. Z  d. S  e. tpil njhpatpy;iy 
 

28. A is thrice as fast as B. If B can do a piece of work in 24 days, then find the number of 
days they will take to complete the work together. 
a. 6 days  b. 7 days   c. 8 days 
d. 9 days  e. Answer not known 
A vd;gth; B vd;gtiuf; fhl;bYk; Ntiy nra;tjpy; %d;W klq;F Ntfkhdth;. B 
Mdth; xU Ntiyia 24 ehl;fspy; Kbg;ghh; vdpy;> ,UtUk; ,ize;J me;j 
Ntiyia Kbf;f vj;jid ehl;fs; vLj;Jf; nfhs;th; vdf; fhz;f. 
a. 6 ehl;fs;  b. 7 ehl;fs;   c. 8 ehl;fs; 
d. 9 ehl;fs;  e. tpil njhpatpy;iy 
 

29. If 81 students can do a painting on a wall of length 448 m in 56 days. Find the 
number of students required to do painting on a similar type of wall of length 160 m 
in 27 days 
a. 40   b. 50   c. 55  d. 60  e. Answer not known 
81 khzth;fs; 448 kP ePsKs;s xU Rthpd; Xh; Xtpaj;ij 56 ehl;fspy; tz;zkpLth;. 
160 kP ePsKs;s mJ  Nghd;w Rthpy; 27 ehl;fspy; tiua Njitg;gLk; khzth;fs; 
vz;zpf;ifia fhz;. 
a. 40   b. 50   c. 55  d. 60  e. tpil njhpatpy;iy 
 

30. Sathish Kumar borrowed Rs. 52.000 from a money lender at a particular rate of 
simple interest. After 4 years, he paid Rs. 79, 040 to settle his debt. At what rate of 
interest he borrowed the money? 
a. 10%  b. 11%  c. 12%  d. 13%  e. Answer not known 
rjP~;Fkhh; vd;gth; xU fld; toq;F eghplkpUe;J &. 52.000 I xU Fwpg;gpl;l 
jdptl;b tpjj;jpy; fldhfg; ngw;whh;. 4 Mz;Lfs; fopj;J rjP~;Fkhh; &.79>040 I 
nkhj;jj; njhifahfr; nrYj;jpdhh; vdpy;> tl;b tPjj;ijf; fhz;f. 

 a. 10%  b. 11%  c. 12%  d. 13%  e. tpil njhpatpy;iy 
 

31. Raman has paid Rs. 800 as a simple interest interest on certain sum of amount for 4 
years at the rate of 8% per Annum. Then the sum of amount is  
a. Rs. 2, 000   b. Rs. 2, 100   c. Rs. 2, 400 
d. Rs. 2, 500   e. Answer not known 
uhkd; xU Fwpg;gpl;l njhiff;F 8% tl;btPjk; 4 Mz;Lfs; fopj;J &.800 Ij; 
jdptl;bahfr; nrYj;jpdhy; mj;njhifapd; kjpg;G. 
a. &. 2>000   b. &. 2>100   c. &. 2>400 
d. &. 2>500   e. tpil njhpatpy;iy 
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32. How many components of GST? 
a. 2  b. 3  c. 4  d. 5  e. Answer not known 
GST-apd; cs;slf;fq;fs; vj;jid? 
a. 2  b. 3  c. 4  d. 5  e. tpil njhpatpy;iy 
 

33. Which among the following is the maximum pursued occupation in India? 
a. Trade  b. Craft occupation   c. Agriculture 

d. Mining  e. Answer not known 
gpd;tUtdtw;Ws; vJ ,e;jpahtpy; mjpfkhNdhh; nra;Ak; njhopy;? 
a. thzpfk;  b. fiyg; nghUl;fs;  c. Ntshz;ik 
d. Ruq;fk;  e. tpil njhpatpy;iy 
 

34. Choose the right answer 
 _______ was the first country to implement GST in 1954. 
a. India   b. France    c. Japan 
d. America  e. Answer not known 
rhpahd; tpiliaj; Njh;e;njLf;f 
1954 Mk; Mz;L Kjd; Kjypy; ruf;F kw;Wk; Nrit thpia (GST) 
eilKiwg;gLj;jpa ehL 
a. ,e;jpah  b. gpuhd;];    c. [g;ghd; 
d. mnkhpf;fh  e. tpil njhpatpy;iy 
 

35. According to NITI Aayog 2015-16 which state place first in (NER) Net Enrolment 
Patio at primary level. 
a. Tamil Nadu   b. Kerala   c. West Bengal 
d. Karnataka    e. Answer not known 
2015-16 Mk; Mz;L epjp MNahf; mwpf;ifapd;gb (NER) Jtf;fepiy epfu  khzth; 
Nrh;f;if tPjj;jpd; mbg;gilapy; Kjyplk; tfpf;Fk; khepyk; vJ? 
a. jkpo;ehL   b. Nfush   c. Nkw;F tq;fhsk; 
d. fh;ehlfk;   e. tpil njhpatpy;iy 
 

36. _______was the first woman to pay penalty for violation of salt laws in Tamil Nadu 
a. Rukmani Lakshmipathi  b. Ambujammal  c. Lakshmi Sahgal 
d. Muvalur Ramamirtham  e. Answer not known 
jkpo; ehl;bd; cg;G rl;lq;fis kPwpajw;fhf mguhjk; fl;ba Kjy; ngz;kzp 
_________ Mthh;. 
a. Uf;kzp yl;Rkpgjp  b. mk;G[k;khs;  c. yl;Rkp nrfy; 
d. %tY}h; ,uhkhkph;jk;  e. tpil njhpatpy;iy 
 

37. Swadesi Steam Nevigation company of V.O Chidambaram Pillai started in the year 
a. 1905   b. 1906   c. 1907 
d. 1908   e. Answer not known 
t.c. rpjk;guk; gps;is RNjrp ePuhtpf; fg;gy; fofj;ij vg;NghJ njhlq;fpdhh;? 
a. 1905   b. 1906   c. 1907 
d. 1908   e. tpil njhpatpy;iy 
 

38. How should we punish those who harm us according to Valluvar? 
a. Do harm to them   b. Give advice to them  c. Do good to them 
d. Go subservient to them  e. Answer not known 
jPq;F nra;tiuj; jz;bg;gjw;F chap topahf ts;Sth; vjidr; Rl;Lfpwhh;? 
a. mtUf;Fj; jPik nra;jy; b. mtUf;F mwpTiu $wy; 
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d. mtUf;F ed;ik nra;jy; d. mtUf;Fg; gzpe;J Nghjy; 
e. tpil njhpatpy;iy 
 

39. How does Valluvar interpret the friendship of a person whose words have no 
relation to his deeds.? 
a. It will be paining even in reality  b. It will be painful even in dreams 
c. It will be painful in next birth   d. It will be painful in happiness 
e. Answer not known 
nrhy;Yf;Fk; nraYf;Fk; njhlh;gpy;yhjthpd; el;ig ts;Sth; vt;thW Rl;Lfpwhh;? 
a. edtpYk; Jd;gk; jUk;    b. fdtpYk; Jd;gk; jUk; 
c. kWikapYk; Jd;gk; jUk;   e. ,d;gj;jpYk; Jd;gk; jUk; 
e. tpil njhpaty;iy 
 

40. What is called as sore by Valluvar? 
a. Fate   b. Meat    c. Eye 
d. Sickness  e. Answer not known 
Gz; vd;W ts;Sth; vjidf; Fwpg;gpLfpd;whh;? 
a. Co;  b. Gyhy;    c. fz; 
d. Neha;  e. tpil njhpatpy;iy 
 

41. What does Valluvar suggest to increase virtue? 
a. To speak angrily  b. To speak proudly  c. To speak gracious words 
d. To speak with ill will e. Answer not known 
‘mwk; ngUFk; top’ vdj; jpUts;Sth; vjidf; $Wfpd;whh;? 
a. Nfhgr; nrhw;fis $Wjy;  b. Gfo;r; nrhw;fisf; $Wjy; 
c. ,dpa nrhw;fisf; $Wjy;  e. gopAil nrhw;fisf; $Wjy; 
e. tpil njhpatpy;iy 
 

42. At who will all five elements if the body laugh at, according to Valluvar? 
a. Impostor/Cheat/Pretender  b. Indisciplined 
c. Liar    d. Uneducated  e. Answer not known 
clypy; fye;Js;s gQ;r G+jq;fSk; ahiug; ghh;j;Jr; rphpf;Fk; vd;W ts;Sth; 
Fwpg;gpLfpd;whh;? 
a. tQ;rkdj;jhd;  b. xOf;fkpy;yhjhd;  c. ngha;Aiug;gtd; 
d. fy;yhjhd;   e. tpil njhpatpy;iy 
 

43. The primary organ infected during tuberculosis is  
a. Bone marrow  b. Intestine   c. Spleen 
d. Lungs   e. Answer not known 
fhrNehapdhy; ghjpf;fg;gLk; Kjd;ik cWg;G ahJ? 
a. vYk;G k[;i[   b. Fly;   c. kz;zPuy; 
d. EiuaPuy;   e. tpil njhpatpy;iy 
 

44. Which of the following statement /statements is /are true about scids? 
i. Acid furnishes H+ Ions 
ii. Acid furnishes H+ Ions is aqueous solution 
iii. All acids contain one or more replaceable hydrogen atoms 
a. i only   b.  ii and iii only  c. i and ii only 
d. i and iii not only  e. Answer not known 
fPo;f;fz;ltw;Ws; mkpyj;ijf; Fwpj;j rhpahd $w;W/$w;Wfs; vJ/vit? 
i. mkpyq;fs; H+ madpfis jUfpwJ 
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ii. mkpyq;fs;> ePh;f;fiurpypy;> H+ madpfis jUfpwJ 
iii. midj;J mkpyq;fSk;> xd;W my;yJ mjw;F Nkw;gl;l gjpyPL nra;ag;glf;$ba 
i`l;u[d; mZf;fis nfhz;lit. 
a. i kl;LNk    b. ii kw;Wk; iii kl;LNk 
c. i kw;Wk; ii kl;LNk  d. i kw;Wk; iii kl;LNk 
e. tpil njhpatpy;iy 
 

45. More number of wheels are provided for a heavy goods carrier in order to decrease 
the ______, thereby increasing the area of contact on the road. 
a. Pressure   b. Velocity   c. Density 
d. All the above  e. Answer not known 
________Fiwf;fTk;> rhiyAldhd njhL gug;ig mjpfhpf;fTk;> fduf ruf;F 
thfdq;fs; mjpf vz;zpf;ifapyhd rf;fuq;fisf; nfhz;Ls;sd. 
a. mOj;jj;ij  b. jpirNtfj;ij  c. mlh;j;jpia 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

46. Newton metre (Nm) is the S.I unit of  
a. Moment of couple  c. Acceleration  c. Velocity 
d. Force    e. Answer not known 
epA+l;ld; kPl;lh; (Nm) vd;w S.I myF fPo;f;fz;ltw;Ws; vtw;wpw;Fg; nghUe;Jk;? 
a. ,ul;ilapd; jpUg;Gj;jpwd; b. KLf;fk;  c. jpirNtfk; 
d. tpir    e. tpil njhpatpy;iy 
 

47. The Sahitya Akademi Award 2020 for the Novel “Sellatha Panam” was won by 
a. Ramu   b. Imayam   c. Selapan 
d. Kumar   e. Answer not known 
“nry;yhj gzk;” vd;w  ehtYf;fhf 2020 Mk; Mz;bw;fhd rhfpj;a mfhlkp tpUJ 
ngw;wth; ahh;? 
a. uhK   b. ,ikak;    c. nry;yg;gd; 
d. Fkhh;   e. tpil njhpatpy;iy 
 

48. Which committee was appointed by the planning commission is 1985 with respect to 
local self governments? 
a. Balwantrai Mehta Committee  b. G.V.K. Rao Committee 
c. L.M. Singhvi committee   d. Ashok Mehta Committee 
d. Answer not known   
1985 Mk; Mz;L jpl;lf; FOtpdhy; cs;shl;r;rp murhq;fk; njhlh;ghf epWtg;gl;l 
FO vJ? 
a. gy;te;j;uha; Nkj;jh FO   b. G.V.K uht; FO 
d. L.M. rpq;fp FO    e. mNrhf; Nkj;jh FO 
e. tpil njhpatpy;iy 
 

49. Which tax has replaced multiple indirect taxes during 2017? 
a. Sales tax   b. Customs duty  c. Goods and Service tax 
d. Income tax   e. Answer not known 
,e;jpahtpy; fhzg;gl;l gy;NtW kiwKf thpfSf;F khw;whf nfhz;L 2017-y; 
tug;gl;l Gjpa thp vJ? 
a. tpw;gid thp  b. Rq;f thp   c. ruf;F kw;Wk; Nrit thp 
d. tUkhd thp  e. tpil njhpatpy;iy 
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50. The country which has Highest Human Development Index in  2021 
a. Norway   b. Switzerland  c. Denmark  
d. Singapore   e. Answer not known 
2021 ,y; mjpf kdpj tsh;r;rpf; FwpaPl;ilf; nfhz;l ehL 
a. ehh;Nt   b. Rtpl;rh;yhe;J  c. nld;khh;f;  
d. rpq;fg;G+h;   e. tpil njhpatpy;iy 
   

51. The Sangam Age was associated with _____ Metal Age. 
a. Copper   b. Iron    c. Gold 
d. Silver   e. Answer not known 
rq;f fhyk; vd;gJ ____________ cNyhf fhyj;NjhL njhlh;GilaJ 
a. nrk;G   b. ,Uk;G   c. jq;fk; 
d. nts;sp   e. tpil njhpatpy;iy 
 

52. When was the “Samarasa Suddha Sanmarga Satya Sanga” of Vallalar started? 
a. 1865   b. 1867   c. 1866 
d. 1868   e. Answer not knowr 
ts;syhhpd; “rkur Rj;j rd;khh;f;f  rj;jpa rq;fk;” vg;NghJ epWtg;gl;lJ? 
a. 1865   b. 1867   c. 1866 
d. 1868   e. tpil njhpatpy;iy 
 

53. _______ started a Tamul nationalist periodical “Swadesamitran” in 1891 
a. Gokhale   b. G. Subramaniam  c. T. Muthu Swamy 
d. P. Rangaiah  e. Answer not known 
1891-,y; RNjrkpj;ud; vd;w ngahpy; jkpopy; xU Njrpa gUt ,jioj; njhlq;fpath; 
__________ 
a. NfhfNy   b. G. Rg;ukzpak;  c. T. Kj;Jrhkp 
d. P. uq;ifah   e. tpil njhpatpy;iy 
 

54. High literacy level of Tamil people by 6th century BCE has been indicated in the 
Tamil-Brahmi script excavated at 
a. Keezhadi   b. Kodumanal   c. Alangulam 
d. Uraiyur   e. Answer not known 
jkpof kf;fs; 6-Mk; E}w;whz;bypUe;Nj vOj;jwpT ngw;wpUe;jdh; vd;gij $Wk; jkpo;- 
gpukp vOj;Jg; nghwpg;Gfs; ________ ,lj;jpy; fz;nlLf;fg;gl;Ls;sd. 
a. fPob   b. nfhLkzy;   c. Myq;Fsk; 
d. ciwA+h;   e. tpil njhpatpy;iy 
 

55. The father of Green revolution in India was 
a. Mahathma Gandhi  b. M.S. Swaminathan c.  N.R. Viswanathan 
d. Jawaharlal Nehru   e. Answer not known 
,e;jpahtpy; gRikg; Gul;rpapd; je;ij vd miof;fg;gLgth; 
a. kfhj;kh fhe;jp   b. vk;.v];. Rthkpehjd; c. vd;.Mh;. tp];tehjd; 
d. [t`h;yhy; NeU   e.  tpil njhpatpy;iy 
 

56. Important urban agglomerations includes 
a. Coimbatore, Madurai and Tiruchirappalli 
b. Chennai, Dindigal and Periyakulam 
c. Tirunelveli, Salem and Chengalpattu 
d. Kanchipuram, Karaikkudi and Pattukottai 
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e. Answer not known 
Kf;fpa efh;g;Gw xUq;fpizg;G cs;s khtl;lq;fs;. 
a. Nfhak;Gj;J}h;> kJiu kw;Wk; jpUr;rpuhg;gs;sp 
b. nrd;id> jpz;Lf;fy; kw;Wk; nghpaFsk; 
c. jpUney;Ntyp> Nryk; kw;Wk; nrq;fy;gl;L 
d. fhQ;rpGuk;> fhiuf;Fb kw;Wk; gl;Lf;Nfhl;il 
e. tpil njhpatpy;iy 
 

57. Which of the following statements are true of Leucoderma 
1. It is a non- communicable disease 
2. It is a skin disease that causes loss of skin pigmentation 
3. There is no cure 
a. 1 and 2   b. 2 and 3   c. 1 and 3 
d. 1, 2 and 3   e. Answer not known 
gpd;tUtdtw;wpy; YNfhnlh;kh my;yJ ntz;Neha; gw;wpa cz;ik fUj;J vit? 
1. ,J xU njhw;whj Neha; 
2. ,J Njhy; epwkp ,og;ig Vw;gLj;Jk; xU Njhy; Neha; 
3. ,e;Neha;f;F  rpfpr;ir mspf;f KbahJ 
a. 1 kw;Wk; 2   b. 2 kw;wk; 3   c. 1 kw;Wk; 3 
d. 1> 2 kw;Wk;  3  e. tpil njhpatpy;iy 

58. Which of the following is not a water conservation method? 
a. rational use of ground water 
b. use of modern irrigation methods 
c. decreasing forest cover 
d. renovations of traditional water sources 
e. Answer not known 
gpd;tUtdtw;Ws; vJ ePu; ts ghJfhg;g Kiw my;y> 
a. Rpf;fhkhd epyj;jb ePh; gad;ghL 
b. etPd ePh;g;ghrd Kiwfisg; gad;gLj;Jjy; 
c. fhLfspd; gug;gsitg; Fiwj;jy; 
d. kuG top ePh;tsq;fisg; gJg;gpj;jy; 
e. tpil njhpatpy;iy 
 

59. Which district of Tamil Nadu has reported highest literacy rate  
a. Tirunelveli   b. Chennai    c. Kanyakumari 

d. Vellore   e. Answer not known 
jkpo;ehl;by; fy;tpawpT tpfpjk; mjpfk; nfhz;l khtl;lk; vJ? 
a. jpUney;Ntyp  b. nrd;id    c. fd;dpahFkhp 
d. NtY}h;   e. tpil njhpatpy;iy 
 

60. Which state has the largest reserves of copper ore in India? 
a. Rajasthan   b. Arunachal Pradesh  c. Uttra Pradesh 
d. Chhattisgrh  e. Answer not known 
,e;jpahtpy; jhkpug;gbT mjpfKs;s khepyk; vJ? 
a. ,uh[];jhd;   b. mUzhry gpuNjrk;  c. cj;jpug;gpuNjrk; 

d. rl;B];fh;   e. tpil njhpatpy;iy 
 

61. The word ‘Monsoon’ has been derived from ______ word. 
a. Urdu   b. Hindi    c. Arbic 
d. Greek   e. Answer not known 
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‘khd;#d;’ vd;w nrhy; ___________ nkhopr; nrhy;ypypUe;Jg; ngwg;gl;lJ. 
a. cUJ    b. ,e;jp   c. mugpf; 
d. fpNuf;f   e. tpil njhpatpy;iy 
 

62. _______ hailed the Pandyan Kingdom as ‘the richest and the most splendid province 
in the World’. 
a. Fahien   b. Marco Polo  c. Megasthanese 
e. Hieun Tsang  e. Answer not known 
ghz;ba muR “nry;t nropg;G> cyfpNyNa kpf mw;Gjkhd gFjpahFk;” vd Gfo;e;J 
$wpa mwpQh; _________ Mthh;. 
a. fh`pahd;   b. khh;f;Nfh NghNyh  c. nkf];jdp]; 
d. `{thd; rhq;  e. tpil njhpatpy;iy 
 

63. The oldest Dravidian language is 
a. Malayalam   b. Telugu   c. Tamil 

d. Hindi   e. Answer not known 
goikahd jpuhtpl nkhop _________ MFk; 
a. kiyahsk;  b. njYq;F    c. jkpo; 
d. ,e;;jp   e. tpil njhpatpy;iy 
 

64. The main occupation of the people of the Indus valley civilization was 
a. Agriculture  b. Warfare   c. Hunting 
d. Fishing   e. Answer not known 
rpe;J rkntsp ehfhpf kf;fspd; Kjd;ikahd njhopy; vJ? 
a. tptrhak;   b. Nghh;j;njhopy;  c. Ntl;ilahLjy; 
d. kPd;gpb njhopy;  e. tpil njhpatpy;iy 
 

65. Which of the following is not a condition for becoming the citizen of India? 
a. By Acquiring property  c. By Descent  c. By Birth 
d. By Naturalization  e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j xd;W ,e;jpa FbAhpikiag; ngwk; top my;y? 
a. nrhj;Jhpik ngWtjd; %yk;  b. tk;rhtopapd; %yk; 
c. gpwg;gpd; %yk;    d. ,ay;G FbAhpik %yk; 
e. tpil njhpatpy;iy 
 

66. Which Amendment Act is known as mini constitution of India? 
a. 41st Amendment Act  b. 42nd Amendment Act 

c. 43rd Amendment Act  d. 44th Amendment Act 
e. Answer not known 
ve;j rl;lj;jpUj;jr; rl;lk; ,e;jpa FW murpayikg;G vd miof;fg;gLfpwJ? 
a. 41tJ rl;lj;jpUj;jr; rl;lk;  b. 42tJ rl;lj;jpUj;jr; rl;lk; 
c. 43tJ rl;lj;jpUj;jr; rl;lk;  d. 44tJ rl;lj;jpUj;jr; rl;lk; 
e. tpil njhpatpy;iy 
 

67. Lokayuktas members are appointed by 
a. The Chief Justice of State High Court 
b. The State Public Service Commission  
c. The Governor of State  
d. The Chief Minister of State  
e. Answer not known 
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Nyhf; Maf;jh cWg;gpdh;fis epakdk; nra;gth; ahh;? 
a. khepy cah;ePjpkd;w jiyik ePjpgjp 
b. khepy muRg; gzpahsh; Njh;thizak; 
c. khepy MSeh; 
d. khepy Kjyikr;rh; 
e. tpil njhpatpy;iy 
 

68. Which year the e-courts project was established? 
a. 2009  b. 2010    c. 2007 
d. 2005  e. Answer not known 
kpd; MSif ePjpkd;wq;fs; jpl;lk; ve;j Mz;L njhlq;fg;gl;lJ? 
a. 2009  b. 2010    c. 2007 
d. 2005  e. tpil njhpatpy;iy 
 

69. If the price of Orid dhall after 20% after 20% increase is Rs. 96 per kg. Then find the 
original price of Orid dhall per kg 
a. Rs. 86 b. Rs. 84   c. Rs. 78 d. Rs. 80 e. Answer not known 
20% tpil cah;tpw;Fg; gpd; xU fpNyh cSe;jk; gUg;gpd; tpiy Rs. 96 vdpy; xU 
fpNyh cSe;jk; gUg;gpd; mry; tpiyiaf; fhz;f. 
a. Rs. 86 b. Rs. 84   c. Rs. 78 d. Rs. 80 e. tpil njhpatpy;iy 
 

70. What is the difference between the L.C.M and H.C.F of the three numbers 60, 75 and 
90? 
a. 895  b. 899   c. 845  d. 885  e. Answer not known 
60> 75 kw;Wk; 90 Mfpa %d;W vz;fspd; kPr;rpW nghJklq;F kw;Wk; kPg;ngU nghJ 
tFj;jp ,tw;wpw;fpilNaahd tpj;jpahrk; vd;d? 
a. 895  b. 899   c. 845  d. 885  e. tpil njhpatpy;iy 
 

71. The volume of a solid right circular cone is 11088 cm3. If it’s height is 24 cm then find 
the radius of the cone. 
a. 20 cm b. 21 cm  c. 19  d. 18  e. Answer not known 
xU Neh;tl;lf; $k;gpd; fd msT 11088 nr.kP MFk;. $k;gpd; cauk; 24 nr.kP vdpy;> 
mjd; Muk; fhz;f. 
a. 20 cm b. 21 cm  c. 19  d. 18  e. tpil njhpatpy;iy  
 

72. A garden roller whose length is 3 m long and whose diameter is 2.8m is rolled to 
level a garden. How much area will it cover in 8 revolutions? 
a. 72 m2    b. 211.2 m2   c. 200.2 m2  
d. 92 m2    e. Answer not known 
ePsk; 3 kP kw;Wk; tpl;lk; 2.8 kP cila xU rkd;gLj;Jk; cUisiaf; nfhz;L xU 
Njhl;lk; rkd;gLj;jg;gLfpwJ. 8 Rw;Wfspy; vt;tsT gug;ig cUis rkd; nra;Ak;? 
a. 72 kP2   b. 211.2 kP2    c. 200.2 kP2   
d. 92 kP2   e. tpil njhpatpy;iy 
 

73. When seen through a mirror , a watch shows 12: 15. The correct time is  
a. 1: 15   b. 11: 45   c. 12 : 30 
d. 12 : 45   e. Answer not known 
xU fbfhuj;ij fz;zhbapy; ghh;f;Fk;NghJ 12 : 15 vdf; fhl;LfpwJ vdpy; 
fbfhuj;jpd; rhpahd Neuk; vt;tsT? 
a. 1: 15   b. 11: 45   c. 12 : 30 
d. 12 : 45   e. tpil njhpatpy;iy 
 



 

14 | P a g e  
 

74. If, given two numbers are in the ratio13: 15 and their LCM is 39,780 then the numbers 
are 
a. 670, 1340   b. 884, 1020    c. 884, 1040 
d. 2652, 3060   e. Answer not known 
nfhLf;fg;gl;l> ,U vz;fhsdJ 13:15 vd;w tpfpjj;jpy; cs;sJ kw;Wk; mtw;wpd; 
kP.ngh.k 39>780 vdpy; mt;tpU vz;fs; _________ MFk;. 
a. 670, 1340   b. 884, 1020    c. 884, 1040 
d. 2652, 3060   e. tpil njhpatpy;iy 
 

75. Kala and Vani are friends. Kala says ‘Today is my Birthday’ and she aske Vani 
“When will you celebrate your Birth Day?” Vani replies “Today is Monday and I 
Celebrated my birthday 75 days ago”. Find the day when Vani celebrated her 
Birthday. 
a. Thursday   b. Tuesday    c. Wednesday 

d. Friday   e. Answer not known 
fyh kw;Wk; thzp ,UtUk; ez;gh;fs;. ,d;W vdJ gpwe;j ehs; vdf; fyh $wpdhs;. 
thzpaplk; “cd; gpwe;j ehis vg;NghJ eP nfhz;lhbdha;?” vdf; Nfl;lhs;. mjw;F 
thzp “,d;W jpq;fs; fpoik> ehd; vd;Dila gpwe;jehis 75 ehl;fSf;F Kd; 
nfhz;lhbNdd; vdg; gjpyhspj;jhs;” thzpapd; gpwe;jehs; ve;j fpoikapy; 
te;jpUf;Fk; vdf; fhz;f 
a. tpahof;fpoik   b. nrt;tha;fpoik  c. Gjd;fpoik 
d. nts;spfpoik   e. tpil njhpatpy;iy  
 

76. Amutha can weave a Saree in 18 days. Anjali is twice as good weaver as Amutha. If 
both of them weave together, then in how many days can they complete weaving the 
saree? 
a. 9 days   b. 6 days    c. 5 days 
d. 4 days   e. Answer not known 
 mKjh xU Nriyia 18 ehs;fspy; nea;thh;> mQ;ryp> mKjhit tpl nea;tjpy; 
,Uklq;F jwikrhyp. ,UtUk; ,ize;j nea;jhy;> me;jr; Nriyia vj;jid 
ehl;fspy; nea;J Kbg;gh;? 
a. 9 ehl;fs;   b. 6 ehl;fs;    c. 5 ehl;fs; 
d. 4 ehl;fs;   e. tpil njhpatpy;iy 
 

77. The difference between 18th and 17th Fibonacci number is 
a. 233    b. 377     c. 610 
d. 987    e. Answer not known 
gjpndl;lhtJ kw;Wk; gjpNdohtJ gpgNdhrp vz;fSf;fpilNaahd tpj;jpahrk; 
a. 233    b. 377     c. 610 
d. 987    e. tpil njhpatpy;iy 
 

78. A person has 15 square colour papers of sizes 10 cm, 11cm, 12cm,…..,24cm. How 
much area can be decorated with these colour papers? 
a. 4156 cm2   b. 4165 cm2    c. 4615 cm2 

d. 5615 cm2   e. Answer not known 
xUthplk; 10 nr.kP> 11nr.kP>….24 nr.kP vd;w gf;f msTs;s 15 rJu tbt tz;zf; 
fhfpjq;fs; cs;sd. ,e;j tz;z fhfpjq;fisf; nfhz;L vt;tsT gug;ig mile;J 
myq;fhpf;f KbAk;? 
a. 4156 cm2   b. 4165 cm2    c. 4615 cm2 

d. 5615 cm2   e. tpil njhpatpy;iy 
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79. A sum of money invested at compound interest amounts to Rs. 4,624 in  2  years and 
to Rs. 4,913 in 3 years. Then the amount is  
a. Rs. 4,096   b. Rs. 4, 260     c. Rs. 4, 335 
d. Rs. 4,360   e. Answer not known 
xU Fwpg;gpl;l mryhdJ $l;L tl;b tPjj;jpy; KjyPL nra;Ak; NghJ 2 Mz;Lfspy; 
&.4>624k;> 3 Mz;Lfspy; &. 4>913k; njhifahf fpilf;fpwJ vdpy; mry; 
a. Rs. 4,096   b. Rs. 4, 260     c. Rs. 4, 335 
d. Rs. 4,360   e. tpil njhpatpy;iy 
 

80. The population of a town has a constant growth of 6% every year. If its present 
population is 238765. Then the population after two years is  
a. 248276   b. 268276    c. 348176 
d. 368276   e. Answer not known 
xU efuj;jpd; kf;fs; njhif Mz;Lf;F 6% tpjk; mjpfhpf;fpwJ. ,g;nghOJ mjd; 
kf;fs; njhif 238765 vdpy; ,uz;L Mz;LfSf;Fg; gpwF kf;fs; njhif 
a. 248276   b. 268276    c. 348176 
d. 368276   e. tpil njhpatpy;iy 
 

81. A new technology was tried in 1960-61 as a pilot project in seven districts was called 
a. High yielding fruits programme  b. White Revolution 
d. High yielding varities programme  d. Blue Revolution 
e. Answer not known 
1960-61 ,y; VO khtl;lw;fspy; nray;gLj;jg;gl;l “Kd;Ndhb jpl;lk;” vd;w Gjpa 
njhopy;El;gk; vt;thW miof;fg;gl;lJ? 
a. mjpf tpisr;ry; jUk; goq;fis cw;gj;jp nra;tjw;fhd jpl;lk; 
b. ntz;ikg; Gul;rp 
c. mjpf tpisr;ry; jUk; ufq;fis cw;gj;jp nra;tjw;hfd jpl;lk; 
d. ePyg;Gul;rp 
e. tpil njhpatpy;iy 
 

82. No of subjects consists in the Union list enumerated in the 7th schedule of Indian 
constitution for division of powers 
a. 61    b. 52     c. 96 
d. 100    e. Answer not known 
,e;jpa murpayikg;gpy; mjpfhuq;fspd;  gphptpy; VohtJ ml;tizapy; Fwpg;gplg;gl;l 
kj;jpag; gl;baypy; vj;jid ,dq;fs; cs;sd? 
a. 61    b. 52     c. 96 
d. 100    e. tpil njhpatpy;iy 
 

83. Which tax is the different one? 
a. Wealth Tax   b. Income Tax  c. Corporate Tax 
d. Stamp duty   e. Answer not known 
fPo;f;fz;ltw;wpy; khWgl;l thp vJ? 
a. nry;t thp    b. tUkhd thp  c. epWtd thp 
d. Kj;jpiuj; jhs; thp  e. tpil njhpatpy;iy 
 

84. In 1940, Kamaraj went to Wardha to meet 
a. Nehru    b. Gandhiji   c. Tilak 
d. Jinnah    e. Answer not known 
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1940 Mk; Mz;L fhkuhrh; ‘thh;jh’ nrd;W re;jpj;jJ 
a. NeU    b. fhe;jp[p   c. jpyfh; 
d. [pd;dh    e. tpil njhpatpy;iy 
 

85. Choose the right answer 
The first congress Ministry of Madras was formed by 
a. T. Prakasam   b. Rajaji   c. Kamarajar 
d. Subramania siva   e. Answer not known 
rhpahd tpiliaj; Njh;T nra;f. 
nrd;id khfhzj;jpd; Kjy; fhq;fpu]; mikr;ruitia mikj;jth;___________ 
Mthh;. 
a. T. gpufhrk;    b. uh[h[p   c. fhkuhrh; 
d. Rg;gpukzpa rpth   e. tpil njhpatpy;iy 
 

86. Dr. B.R. Ambedkar was awarded with the Bharat Ratna in the year 
a. 1987    b. 1989   c. 1990 

d. 1991    e. Answer not known 
Dr. B.R. mk;Ngj;fUf;F ghuj uj;dh tpUJ toq;fg;gl;l Mz;L 
a. 1987    b. 1989   c. 1990 
d. 1991    e. tpil njhpatpy;iy 
 

87. In what session did congress declare complete Independence (Purna Swaraj) as their 
goal 
a. Lahore session 1929  b. Calcutta Session 1929 
c. Lucknow session 1932  d. Delhi session 1932 
e. Answer not known 
ve;j fhq;fpu]; mkh;tpy; KO Rje;jpuj;ij (G+h;z ];tuh[;) jdJ Fwpf;Nfhshf 
mwptpj;jJ? 
a. 1929 yh$h; mkh;T   b. 1929 fy;fj;jh mkh;T 
d. c. 1932 yf;Ndh mkh;T  d. 1932 nly;yp mkh;T 
e. tpil njhpatpy;iy 
 

88. How does Valluvar call the king who administers justice and protection? 
Life to people   b. Heaven’s Nectar to people c. King as god  
d. The Body mass of the people  e. Answer not known 
ePjpnewpAld; kf;fisf; fhg;ghw;Wk; Ml;rpahsiu ts;Sth; vt;thW miof;fpwhh;? 
a. kf;fl;F caph;  b. kf;fl;F  mkpo;J   c. kf;fl;F ,iw 
d. kf;fl;F cly;  e. tpil njhpatpy;iy 
 

89. What according to Valluvar is the enemy that destroys laughter and happiness of 
mankind? 
a. Fear    b. Envy   c. Sorrow 
d. Wrath   e. Answer not known 
xUthpd; eiff;Fk; ctfif;Fk; gifahf ,Ug;gJ vJ vd;W ts;Sth; 
Fwpg;gpLfpd;whh;? 
a. mr;rk;   b. mOf;fhW   c. mOif  
d. rpdk;   e. tpil njhpatpy;iy 
 

90. What four blames will stay with an adulterer? 
a. Delight, Distress, Happiness and Material wealth 
b. Enmity, Pretence, Fear and Guilt 
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c. Wealth, Pride, Splendour and Greatness 
d. Poverty, Distress, Blame and Disease 
e. Answer not known 
gpwdpy; tpiothdplj;J vit ehf;F ePq;fhJ ,Uf;Fk;? 
a. ,d;gk;. Jd;gk;> kfpo;r;rp> nghUs; 
b. gif> ghtk;> mr;rk;> gop 
c. nghUs;> ngUik> rpwg;g> Nkd;ik 
d. tWik> Jd;gk;> ghtk;> Neha; 
e. tpil njhpatpy;iy 
 

91. How does Valluvar compare the wealth of a stingy person? 
a. Similar to a fruit tree at the center of home town 
b. Similar to the hidden wealth that goes in vain 
c. Similar to weeds not having values 
d. Like a poisonous tree bearing fruit in the middle of a town  
e. Answer not known 
gpwuhy; tpUk;gg;lhjtd; nry;tj;ijj; jpUts;Sth; vjw;F xg;ghff; $Wfpd;whh;? 
a. Ch; eLtpy; ,dpa kuk; gOj;jJ Nghd;wJ 
b. ahUf;Fk; gad;glhJ Gijj;J itf;Fk; nry;tj;Jf;F xg;ghFk; 
c. fisfisg; Nghd;W gadw;wjhk; 
d. Ch;eLtpy; er;Rkuk; gOj;jJ Nghd;wJ 
e. tpil njhpatpy;iy 
 

92. Glycolysis takes place in 
a. Cytoplasm   b. Mitochondria  c. Chloroplast 
d. Nucleus   e. Answer not known 
fpisf;fhyp]p]; eilngwk; ,lk; ________ MFk; 
a. irl;Nlhgpshrk;  b. ikl;Nlhfhz;l;hpak;   c. gRq;fzpfk; 
d. epA+f;spa];  e. tpil njhpatpy;iy 
 

93. _______ is the unique characteristic feature of mammals. 
a. Cold-blooded animals   b. Pneumatic bones 
c. Presence of gills    d. Placenta 

e. Answer not known 
ghY}l;bfspd; jdpj;jd;ik _____________ Mfk; 
a. Fsph; ,uj;j tpyq;Ffs;   b. fhw;wiwfs; nfhz;l vYk;Gfs; 
c. nrTs;fs; ,Ug;gJ   d. jha;-Nra; ,izg;Gj; jpR 
e. tpil njhpatpy;iy 
 

94. 3:1 ratio of concentrated aids of ______ is used for cleaning and refining fold. 
a. HCl and HNO3   B. HCl and H2 SO4 

C. HNO3 and H2 SO4  D. HNO3 and HCl 
e. Answer not known 
3:1 vd;w tpfpjhr;rhuj;jpy; cs;s mlh; mkpyq;fs; _________ jw;fj;ij Rj;jk; 
nra;aTk;> rj;jpfhpf;fTk; gad;gLfpwJ 
a. HCl kw;Wk; HNO3   B. HCl kw;Wk; H2 SO4ª  

c. HNO3 kw;Wk; H2 SO4   d. HNO3 kw;Wk; HCl 
e. tpil njhptpy;iy 
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95. The product obtained from coal tar which is used to repel moth and other insects? 
a. Benzene  b. Aniline    c. Naphthalene 
d. Toluene  e. Answer not known 
fhpj;jhhpypUe;J fpilf;Fk; ve;jg; nghUs; me;Jg;G+r;rp kw;Wk; gpw G+r;rpfis 
xopg;gjw;Fg; gad;gLfpwJ? 
a. ngd;rPd;   b. mdpyPd;   c. ehg;jyPd; 
d. nlhYaPd;  e. tpil njhpatpy;iy 
 

96. Which one of the following is the S.I. unit of temperature? 
a. Celsius  b. Kelvin   c. Fahrenheit 
d. All the above e. Answer not known 
fPo;f;fhZk; myFfspy; ntg;gepiyapd; S.I myF vJ? 

a. nry;rpa];   b. nfy;tpd;   c. /ghuhd;`Pl; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

97. Which on of the following river is not found in Tamil Nadu? 
a. Vaigai   b. Thamiraparani  c. Godavari 

d. Palar   e. Answer not known 
gpd;tUk; ejpfspy; vJ jkpo; ehl;by; ,y;yhj xd;W? 
a. itif   b. jhkpuguzp   c. Nfhjhthp 
d. ghyhW   e. tpil njhpatpy;iy 
 

98. _______ is the Human space flight mission by ISRO which will demonstrate taking 
humans to space in low orbit. 
a. NASA   B. Space – X   c. Gaganyaan 

d. Apollo – II   e. Answer not known 
fPo;f;fz;ltw;Ws; ,];Nuhtpd; ve;jj; jpl;lk; kdpjh;fis tpz;ntspf;Ff; Fiwe;j 
Rw;Wg;ghijapy; mioj;Jr; nry;tij Nehf;fhf nfhz;Ls;sJ? 
a. eh]h   b. ];Ng]; - vf;];  c. ffd;ahd; 
d. mg;NghNyh – II  e. tpil njhpatpy;iy 
 

99. In which year did the Disaster Management Act came into force? 
a. 2004   b. 2005   c. 2006 
d. 2007   e. Answer not known 
Nghplh; Nkyhz;ikr; rl;lk; eilKiwf;F te;j Mz;L vJ? 
a. 2004   b. 2005   c. 2006 
d. 2007   e. tpil njhpatpy;iy 
 

100. _______ received the first ever “Best third gender award” by the Tamil Nadu 
Government for her services rendered towards the welfare of the society. 
a. Bani    b. Grace Banu  c. Daksha 
d. Fahima   e. Answer not known 
jkpo;ehL murpd; rKjha eyDf;fhf Mw;wpa Nritf;F rpwe;j %d;whk; ghypdj;jth; 
tpUJ ngw;wth; 
a. ghdp   b. fpNy~; ghD  c. jÑh 
d. /g`pkh   e. tpil njhpatpy;iy 
 


